05591-05 M FI e st Bt BRI AEMNEEH

7= miiEA

MR
FEA B THREM R i ER AR AR EHFHR.
T IERZEHRE T HEFXEE,

RS

TEM B,

NI FERER.

TN HIHET

Betl , THMBAREMER PA ( RELR ) o

A

TRFEE,

BRATBER.

BT,

R , WIEBT4EEREE PA,
THENED , 2.

BR

BE T M2 5 M3 RN E E iR,
Z%HANX 1, BFHRE 6 mm,
ZEFX 2, BFHRE>6 £ 14 mm,

MBRBEREEH , MHRERZBEE5=4 0.1 mm LA LR BEIBE,

fEFRER -

BRFE4AAL TOFF R4y , BHFFHEE.,
e BN R BITRRENRER L,
FhEd B TR H T BRI ON £,
EERENSRE —FHEEES,

Bt
R ZHR 05592

BERR :
1) ZRAR 1
2) ZEARN 2
3) ik

© norelem www.norelem.com



05591-05 M FI e st Bt BRI AEMNEEH

H2

| an,
i
1
|

H3 |
L
B

D -0.04

-0,08

12
T=02

05591-05-516 REhE | ST
05591-05-817 REE | MEHT
05591-05-1516 TEM | TN
05591-05-1817 TEW | THMET

155 |14 125|25/21/30(65| 20 |55 | M2x3 |14 |26 |44 |24 6| 6-10 25
17 |18 34 |34|28|38| 10| 26,5 | 55| M3x4 |18 |35|6,5|3,4 6| 6-14 25
155 |14 125|25|21|30(65| 20 |55 | M2x3 |14 |26 |44 |24 6| 6-10 25
17 |18 3434|2838 10 | 265 | 55| M3x4 |18 |35|6,5|34 6| 6-14 25

© norelem www.norelem.com



05591-05 M FI e st Bt BRI AEMNEEH

05591-05-516 REth WL 60 60 1,8 1,2 <130 °C
05591-05-817 RELRR WEIHET 90 90 3,2 0,4 <130 °C
05591-05-1516 FEW TEEMEET 60 60 1,8 1,2 <200 °C
05591-05-1817 TEW R 90 90 3,2 0,4 <200 °C

© norelem www.norelem.com




